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1.Your existing virtual environment is stored on a NetApp AFF array. You want to reduce the capacity 
utilization on this array while taking advantage of highly scalable cloud storage. 
Which ONTAP feature should you enable to satisfy these requirements? 
A. FlexClone 
B. StorageGRID 
C. FlexCache 
D. FabricPool 
Answer: A 
 
2.What are three benefits of using NetApp Cloud Volumes ONTAP? (Choose three.) 
A. storage efficiencies 
B. serverless compute 
C. automatic backup 
D. automatic tiering 
E. SnapMirror capabilities 
Answer: A,C,D 
 
3.Which statement is true regarding application containerization? 
A. Application containerization is designed for massive data sets. 
B. Application containerization increases performance of virtual machines. 
C. Application containerization requires the Linux operating system. 
D. Application containerization provides increased portability. 
Answer: D 
 
4.Which type of service is an Amazon EC2 instance? 
A. networking 
B. storage 
C. compute 
D. switch 
Answer: C 
 
5.Which service does Cloud Volumes ONTAP tiering use? 
A. Azure Stack 
B. Azure Queue Storage 
C. Azure Data Lake Storage 
D. Azure Blob 
Answer: D 
 


